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1. Cursive Writing: Complete your Cursive Writing Book.
2. Book Review on any one book of Ruskin Bond/ Enid Blyton.
OR
Make a chart- A3 size - about the following authors- Ruskin Bond
Rudyard Kipling
J.K. Rowling
Charles Dickens

3. Create a poster protesting the killing of whales. Try to use words or phrases from the poem
Song of the Whale.Ref:pg.no.24-27(supplementary reader) A4 size.

[] Present your work creatively.

MATHS
1. Solve:3x +2 =14 [Ans: 4]
2. Solve: 5x + 31= g + 14 [Ans: g]
3. Solve: 2222 4 m = 2m3+3 + 2 [Ans: m = 2]
4, 15(x—4)— 2(x—9)+ 5(x+6)=0 [Ans: x =§]
5. 0.17(5x — 1) = 0.7x + 0.13 [Ans: 2]
6. Solve: 2t =2 [Ans: 2]
2x+3 7

7. Solve:5(2x +1) = 3(x-3) +7 [Ans: x = —1]
8. Solve and find the value of y

y-3 _ 2y+2 cay — A3

T+5_ 3 -8y [Ans:y = 91]




9. Solve:x + 1.5(x —3) = 20.5 [Ans: 10 ]

10. Solve:5x4+3 — 2x3_4 =5 [Ans: 5]

11. Present ages of Khalid and Ron are in the ratio 4:5. Six years from now the ratio of
their ages will be % . Find their present ages.

[Ans: 24, 30]
12. The denominator of a rational number is greater than its numerator by 7. If the
numerator is increased by 17 and the denominator is decreased by 6, the new number

becomes 2. Find the original number.
[Ans: g]

13. The digit in tens place of a two digit number is 4 times the digit in one's place. If you
interchange the digits of this two digit number and add the resulting number to the
original number, you get 55. What is the original number?

[Ans: 41]

14. Nafisa is twice as old as Sakina. Five years ago her age was three times Sakina's age.
Find their present ages. [Ans: 10, 20]
15. Three consecutive integers are such that when they are taken in increasing order and
multiplied by 3,4 and 5 respectively, they add up to 386. Find these numbers.

[ Ans: 31,32,33]

16. Find:2x 24+ 2 x3-2 [Ans: — —]
975 9 75 18 18
: 2, -1 _7 , 11 _ 5 1
17. Find the value of.g+3— X+ o X [Ans: E]

4 3 2 11 14
18.Eva1uate:§ — (— E) + (— 5) + (— ?> [ Ans: (— E) ]
19. Write:

(i) The rational number that does not have a reciprocal [Ans: 0]
(ii) The additive inverse of — [Ans: 3]

’ 13 2 2 _ 13 7
(iii)Name the property under multiplication: - X _7 = _7 =

[Ans: Commutative]

(iv)The multiplicative identity for rational numbers

20. Represent on the number line: (i)

[Ans: 1]
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21. The measure of two adjacent angles of a parallelogram are in the ratio of 1:2. Find the
measure of each of the angles of parallelogram. [Ans: 6091209601209

22.
(i) What is the sum of the measures of exterior angles of a polygon of n sides?
(i) What is the measure of each exterior and interior angle of a regular hexagon.

23. In the given figure, ZABC = 110°, ZBCD =130°, ZCDA = 70° . Find the measure of angle
m,x,y,zand w. Thenfindx+y+z4+w
[Ans:x =70°%y =50%52=1109m=50%w = 130

. A 1/
« w\ /
S >
B \* c

24. ABCD is a parallelogram. Find the value of x and y. Write the property used.

70Ans:x = 6,y = 4]

A 2X +3 B

25.In a parallelogram PQRS, diagonals PR and QS intersect at 0. OP = 25cm,0R = (x +
y)em; 0Q = (y —5)cm and OS = 18cm. Find x and y. Write the property used. Draw the
figure. [Ans: 2,23]

26. How many diagonals are there in an octagon? ( Use formula @ ) [Ans : 20]

27.Write and learn squares and cubes of numbers from 1 to 20



SCIENCE

1. Why are curd, citrus fruits, pickle and chutneys not stored in aluminium and copper
vessels?

2. Write any four methods commonly used for preserving food.
3. Write two disadvantages of synthetic fibres.
4. What is the difference between kharif and rabi crops?

5 .Write the mode of transmission, causative pathogen and preventive measures of the
following diseases.

a.Malaria  b. Tuberculosis c. Cholera
6. Define the following
a. Ductility b. Malleability  c. Sonority

7. Define displacement reaction. What happens when magnesium is added to a solution of
copper sulphate?

8. What is the difference between thermoplastics and thermosetting plastics?

9. Which synthetic fibre is also called artificial silk? Write the properties of this fibre.
10. Give three reasons why ploughing is important.

11. What are antibiotics? Give the names of some antibiotics.

12. What are vaccines? Name the major vaccine preventable diseases in children?
13. What is crop rotation?

14 .Which property of metals makes them suitable for use in jewellery?

15. What is weeding? Name two weedicides.
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1. Read Secularism (Civics. Chap. - 2) and complete page no.31 and 32 of your
Lab Manual book (Social). (SEA)

2. In an A4 sheets (4-5 Pages) make a project on Delhi during Mughal rule.
(His — chap.7) (SEA).

3. Why were the Baiga’s not willing to work as labourers?

4. What happened to shifting cultivation under the British?

5. Why are Laws required?

6. What are Controversial laws?

7. What were the objectives behind the demonetization policy?

8. What are the various ways in which we can protest?

9. Why do we need a Constitution?

10. What are the features of Constitution?

I'1. Mention any five steps taken to conserve natural vegetation and wildlife.
12. What are the human activities that led to soil erosion? Any 5

13. Write the difference between Ubiquitous and Localized resources.

14. Write a note on Subsidiary Alliance and Doctrine of Lapse.

15. What are the causes of the rise of the British in India?

SEA - Subject Enrichment Activity
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ARABIC - 2019 -2020

. Jpan Jad Ban g 8 s (((399a S dawa ) (it i8I -1

1- Write the lesson of (( unlimited health )) one time neatly.
- write all words of (( speaking pronouns A<l iluzs))
- (( conversation pronouns (wtaill)chliad s )
- ((absent pronouns (Auall)ilall jlax ))

L e bl Baal g 8 e (( b JE anbes anin )) et GiS) -2

2- Write the lesson of (( adw Jie ads asa )) one time neatly .
- pick up 3 words has (( lam qamariyah 4 < a¥ ))
- pick up 3 words has (( lam shamsiyah 4w a¥))
- pick up 3 words has (( open Ta 4= sis £13))

- pick up 3 words has (( closed Ta 4 5 3 £1i))



